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for&er: & S SR & 9¢ 3T A few a1
geAT & 3ca} o

Fo IfFd 3R ar & 7@ a3 v dfFa
F IS § M33IR N g s =afFa 38 &
K, N #r a8 3R ¥ d T« W 8l K, P
dr a1 IR A g TUHA W MIR P&
dg gfFaqar & dem M IR L & 99
fFaal T T&ar & @A gl L& S8 3R
Fael dieT afdad 8 &1 L3R J & &g og
fFa 88 §1 P33R RF 9T ar =3fFa 8
¢l R fhdll Th O & g T W &1 ¢l
gfed & frder afFa 88 &2

A. 27 B. 28
C. 19 D. 18
E. 26

M& Tl & ) TA AT ?
A.ST$ 3R ¥ q@l B. a$ 3R & drewr
C.ar$ 3R ¥ g D. 915 3R & e
E. qXd &8 3R

faer: &1 1 ST # ue 3R A few v
el & IcaR o

O i 3ccRk QAT # {W Feh T Uik
A IS & M3IRNF g i gfea 33 &)
K, N #r a8 3R & deY ¥« W g1 K, P
dr AS I T g T W gl MAR P&
g afFaar & e M IR L F d=
gfFaal &1 T&ar & AT gl LT S8 AR
had did IfFd 98 §1 L3R I & 9T o7
fFd 35 &1 P 3R R & & ar =afFa ¥
¢l R el v BR & g@E T W d&aT &
M 3R P& &g fohder safdad dad 82

A.9 B. 12
C.8 D.7
E. 10

T § F FiaT T U7 T &7
A.J, K& g5 3R ST &l
B. N 3R R & &/ &g &ler Sod &1

thi ¢

4
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C.P3R L& 9T ¥ & FHH @Il 93d g
D. 1 3R P& & 9 &er S3a &l
E. #ig 3 o |@er 78T gl
fadar: & a8 SAPRT F 9¢ 3R A RRw v
92T & ek o
Fo Ifdd 3R Rear & 7@ & v dfed
A IS & M33IRNF T s aFa 35 &)
K, N #r a8 3R ¥ I ¥« W g1 K, P
A R Y g T Wl MIAR P&
drg afeqar & gewr M IR L & @
gfFaal 1 T&ar & @A gl LA S AR
Fdd did IiFd 98 g1 L3R I & aa g
fFd 35 §1 P33R R & §T ar afFa 88
g1 R fHdl T O & g@ T W & B

K $r a1g 3R foraer safea soa &2
A. 18 B. 8

C.9 D. 15

E. 12

forer: & I8 SR A 9¢ 3R A few aw
geal & 3cak o

e der FAE D, E, F, G, H, I, ]3iR Kt
PR AT & IRT 3R 50 IR 85 § T
394 § IR Fll W S&fd IR 9d% IR
HSM3 & Heg A 95 1 S oot & Hey
A S § 3AF AU Fg w7 IR g A I S
FeAl W IS § 3T 7@ qMEX A AN T

F, G & @Il gl ¥ W T §, Fael el
AT FIRIF I ARE IR IS
had U IfFd Sadr § (I ar a0 AT o) |
D, K &I a8 3R gay ¥\ W daar ¢ 3R
gg AT ar 141 & J & Reeaw g5 &1 D
AR E& &g had il o1 88 &1 ERST &
fReT off Flr W 8T Sor &l

H &Fr a8 3R & da T W SieT SodT 872

A.D B. E
C.J D. G
E.F
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Ed dcsl & 1o TAT F4T 82

A. a$ 3R ¥ gEr

B. 918 3R & fRmr

C. Td &8 3R

D. R &1$ 3R

E. &1$ 3R & gy

for&er: & S SRRy # 9 3R A R v
&l & Icck &

3MS o AT D, E, F, G, H, I,] 3R Kus
FIMPR AT & IR 3R 37 TR 85 ¢ &
394 § IR FlHl W S6fh IR s IR
HSMT & AL A 95 &1 S oMt & 7Ly
H 95 § 3o qW g H IR Y AT S
FlAl W IS § 3o 7@ Y A AR L

F, G & GV g TR W ST §, FHdel el
A FIRIF I ARIE IR IS =
hdd Tsh cIidd sSodl g (I1 ar §1¢ 3T g10)|
D, K &1 a1§ 3R g@Y ¥\ W §oar § 3R
gg & ar 141 & J & Reead =i &1 D
3R E & I shad et T 86 8| EAST &
R st Al W 8T dor B

T IS SHAEAT & IUR W et # § HiA
/A FIT T &2

I. G 1 Y &g &1 3R ¥

I1. H, J & fAscda g2 &1

III. G, K &I &1 a8 3R ST gl

A. Fael 18T &

B. &ael II &7 ¥l

C. sad III a7 &l

D. gt 131 11 a7 1

E. gt II 3R 111 I g1

et g F ¥ ar el Afga ger @
A §| 96 HiT A § SN WHE ¥ HEOd
et 87

thi ¢

10.

11.

12.

’5
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B.J
D.1I

mo >
Ao

A&er: & a8 SRy F U 3R AR jw A
At & 3k &

36 T AT D, E, F, G, H, I, ]3R Kt
IR AT & IRM 3R 50 IR 85 ¢
398 ¥ IR Fll )X Jdfh IR 936 IR
AT & AL A 95 &1 S semsit & 7Ly
# IS ¢ 390 AT e A IR E AR S
HIeAl T JS § 3ol HW aTeT H 3R &

F, G% U gAY T W IoT §, Fa die
AT FAIRIF I A IS & IR I &
$hddl Uh Ifadd dodl ¢ (IT ar S0 AT gro)|
D, K& §1$ 3R q@¥ ¥ W d&ar ¢ iR
gg & o 17 & J & Sehedd gy &1 D
IR EF &g haa A aoT S &I EAT &
fReT off Pl W 8T Sor &l

JHFr e IR I da W KIR I & 9=

fohcer ofter &% &2

A. IR B. U=
C. g D. ®I$ &1
E.ar

fAer: & 715 STy @ 9¢ 3R A few atw
AT & 3cak &

C,D,H, N, P, S3R Uts aRarR & @a
erg g1 D, F&r #Arar &, N, F s 99 81 H,
N33R U H teaT sga &, S U & far &l
S, C &l 97 &l

I P, F&# X & o C, U & fhe 9o
qefdT §?

A. grer B. grar

C. Rar D. Ardr

E. T =1gT fohar S Fehar

H, F & 9 R efad §?

A. 9 B.g’:ﬁ
C. gfa D. el
E. fOar
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13.

14.

15.

e &) S ISR U 3R A e aw
AT & 3k &

C,D,H,N,P, S 3R Ut aRarR & ad
Herd g1 D, F & #Arar &, N, F &1 99 81 H,
N3 Ufr e sga 8, S U F far &

S, C &l 97 gl

N, D ¥ &8 9 Hefad §?
A. 9rar B. Ucsir
C. g D. el
E. 94

A RU 17 gqs W & AT FUAT F G
ar sy gEar 1 3R 11 e arw €1 3maenr
T T FYaAT H AFAIR W AT dar &
et @ W o g AT § 3R AR 38
Aoy o § & e v fasest & @ =+l
A IMAGR TR AT T2 A 3¢ R g
YT HT clfcheh T { 0T Tl g
Yol
A>2B>F,B>M>0;F>S;R<S
sy

I.S<A
II. F<O

A. Fael forsay I FTEXOT T B

B. ae frsay 11 31eTeR0T & 8

C. 3 ar s 137 1T 31TeR0T e ¢
D. gt s I 3R I 3gaXor Ft £l
E. & o forsens IaT &Y 11 31]Ror &LaT gl
Y.
D<R>E<B;S<M=E>D;G>B
fasey:

I.D>G
II. B<R

A. FIel forsay I 3FTEXOT T B

B. ael forsa¥ 1T 31eTeR0T & &

C. a7 ar forssy I a7 II 3T830T YT ¢
D. @l forsend 1 3R 1T 3HeaRor e g
E. & A fasewy I &) 11 38”0r e gl

thi ¢

16.

17.

18.

$
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hYol:

E<S>F<C; T<N-=F>E; H>C
ey

I. T<C

I.C=T

A. o sy I 3TaR0r e B

B. shael forsehy I 31e]&ROT 3l ¢

C. ar ar forsey I 97 I 31eTeROT T B

D. arst forseny I 31 I 3e78RoT e £

E. & a sy 1A &) 11 3778-0T e gl
AT QU 9T A 99T A AT FUe! F dG
ar sy e 1 3R 11 fQw 91w g1 3mdent
QT 1T dyat AR W AT T F
BT g9 W o Fcg AT § 3R R I8
ot oer & % Ru aw fsest & &+l
A HASR R AT T2 Hr HeFedr Fd g
FUA FT Ak T & 0T Tl B
HYel:
M=L=2N2=2Q<P<Vz=S5;Q>0G
fas:

I.G=S
I1.M>G

A. el faseHy T 3e7ER0T & &

B. %ael forsehy 11 31TET0T e Bl

C.ar o forsehd I 97 I1 318307 e Bl
D. gl sy I 3R 1T 3eTaRoT o &

E. & ar fasewy a1 € 1T 3678Ror &t &
AR fEU AT G 9T A e HUel & ag
ar fashy @ear 1 3R 11 fqu arw g1 3moet
QT 1T Syat AR W AT T d
BT g9 W o Fcy AT § 3R R Ig
v e & & v v faseet & @ @l
A1 IMAAR T A q2AqT BT 3reTedl R §e
YT T Alicheh T { TEOT AT B
HYel:

Q>A=2Z<X<C;Z=H

TEE e
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19.

20.

21,

IGA: 2P

I.Q>H
II.z<C

A. del fAsehy 1 3ER0T a1l gl

B. hael fashy II 3TER0T Xl Bl

C.ar a fashy 197 11 3TER0T e Bl
D. arst forsand 1 3R I 3re7eRoT e &

E. & ar fasewd 1A € 11 367eR0T &t &
AEmdr S FFRRY 9 3T A R v
el & IccR o

9 SlFd T F IR Th W gU §| o P
3R StFT R & g 5 sied g siad T, 8T
R% 81 3T @M g3 &l siora T 3R Srerd
S g 3 SIFH W g &I SFHPARS &
T W Siadl T dEdr S T IR Q & o
W STFAT T TEIT & TAW | diFq U, Stad
Q& A @ gl sSiedg W, sidd X & A
Fel @T gl sied U 3RV & 9T Fagd
g @ g, UV & 3T

T & & &l a1 A T 7T 8§72

I. T3IR Q& &= ar siFg &1

II. S, W & & @ &l

III. U, P & &% 39 3@ B

A. &haer I B. shdel II

C. &ad 111 D. II 3R III g1t

E. @afy I, 11 3ik III

fordt fAfRaa yR @ dew V,P ¥ H&fea §
IR ST Q, X & Tefdd g1 ar Ard Y 34r
YR & §ig U e & @ gy gefag 8§72

AW B. R
C.S D. T
E. X

diFg X 3R P & &g frdar sieg W@ §?

A. Ui B. ar
C.da D. IR
E. &1 a7gr

thi ¢

22.

23.

24,

25,

26.

$
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o= & @ Sleral &1 il AT JIA HAA: iy
Q & &% FI 3R S+ A g2

A. XS B. SX

C. RW D. WR

E. 5081 & &1 el

& IS SgaEAT H S W T T 4T g2
A.P3IRVE g B.3WR & dtar

C. i & war D. sy & Tt
E.R3IRQ& &

e s UNDERNEATHS dgdl, 9id, &
3R A 3R @ v AT Ase T HaTa
&Y A 39 UAsc FT UgaT 38R AT gem? Il
VAT IS 2AeC ST HT FAdl & ar 379elT
3cR X &, afe 00 v @ 318 e g¥a &t

ar 39T 3k M &

AT
C. M
E. N

s TRANSPORTH 31T & 0& bl god
g i &g osg & 3da & e’ § S
37T aofATen s@er & i g 3w R 9
&$r feem #?

B. U
D. X

A. IR B. T
C. = D. ar
E. IR & ¥+

AEedr a8 FERRY # g 3R A R av
92T & 3ca} o

3T gfdad UG P, Q, R, S, T, U, V3R w
#T oA fafiet auf 37aTq 1945, 1956,
1961, 1973, 1978, 1989, 19963k 2007
ﬁgmm@rﬁmmwaﬁ%ﬁ:ﬁw
H g afg gg AT g R 9 @l e &
TG R I FA I§ FH YeT gU & A
qefy &1 Y B AU T a§ 2018
s:umﬁwﬁgtr@rﬂé%"l
Swmwﬁwmmaﬁﬁgw
gl S AR VA adAT I F S HAR 5
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27.

28.

29.

€1 VIR T & i dhael 3 ol &A1 Fer g3
gl W T AT 3 Q T aciATT 3Tg Y
ar e 81 T 3R Q& S SIed oot aral #r
e T 3R P& g S/ oo ardl T Jear
F T g1 RFT 5e7 PO ggor foredy a¥ &

g3 |
4 a¥ a1g S & I FAT gEN?

A. 50 Iy B. 61 a¥

C. 78 ay D. 16 ay

E. 34 Oy

T & ¥ fFger Sea W ¥ gga offdhd U
%a’ragsﬂan?

A.R B. V

C.S D.P

E.T

S 3R R &I Mg & & 41 IR &2

A. 16 a§ B. 11 ay¥
C.17ay¥ D.5a¥
E. 12 a¥

A&erdy 1 Ty F U iR A R v
el & IccR o

3 eafdd 3G P, Q, R, S, T, U, V3ir w
F oA faffiesr awi 37U 1945, 1956,
1961, 1973, 1978, 1989, 19963ik 2007
ﬁg}nmaﬁmmwaﬁ%ﬁ:wm
g Il gg AT T B R J @l TR &
mmmma&ﬁmgm ar
qefy & Y B AU adHH a§ 2018
e # @ §T A IS 7
Swmwﬁwmmaﬁﬁgm
gr| S 3R VA gAY F & HeR 5
81 V3R T o dhaer 3 @i T sieal g3
ATl W T IAA= Mg Q Y adATT I H
ar e 81 TR Q& ST SIed oot aral dr
T T 3R P& &g Sea ot arail I a&ar
& TR g1 R FT S+H P & Ugor forddy a¥ &
g3 |

thi ¢

30.

31.

$
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Uﬁmgrw%?

A. 57 d¥ B. 22 ¥
C. 40 ay¥ D. 45 @Y
E. 73 ¥

fader:dr a5 FFP U 3R A e v
9T & 3R o

3 eafdad 3G P, Q, R, S, T, U, V3R w
#1 oA afe auf 37T 1945, 1956,
1961, 1973, 1978, 1989, 19963k 2007
ﬁgmm?ﬁmmwaﬁ%ﬁ:ﬁw
# g afe I8 A= =r & F 9 @l v &
o AR 3 FA 9§ A der ge g1 A
Tl T Mg T AUET FHAE a¥ 2018 H
&I H @A g H IS F
Swmwﬁwmaﬁa&ﬁgm
g1l S 3R VA adAGT g F & HR 5
%IVﬁTT%aﬁim3aﬁ?ﬁwam§3ﬂ
gqT| W T IR 3 Q T aciAT 1Y Y
ar I 81 TR Q& & Sie A A arell
Fear T 3R P& &g S ot arel I g&ar
F TR g1 R FT SI=H7 P & Ugor fordy a¥ &

g3 |
R & 3=H frg a¥ ﬁ'gynen?
A. 1961 B. 1973
C. 1978 D. 1996
E. 1945

fA&erRT arv weT F ue uee 3R ar HUA |
R | gaEIRa g1 e I fAuilRa aer
g & g ua & & 1 AR U FH
3ccR &of & T qaead § fF 787 &1 39 W
TURa fAFedl & & 39 3ccak &1 I
H|

©g »iFd A, B, C, D, E3IRF & gead &
35 & 397 ¥ Fo AW Fg A IR AR
TO H TG Hg & qET A AR § 39 @
fohciail 1 7@ g T IR ?

TEE e

IBPS PO COMBO EXAM

(6)



http://www.gradeup.com/
https://xu75j.app.goo.gl/TtCh

www.gradeup.co

32.

I.F, D& S0 gl ¥ W gl C, Fa& a7
gEY T\ W 81 C, B & 8 a1t 3R 1 E,
B & SV g ¥ W § 3R B &1 7@ &a
¥ T Hr IR
II. B, A% &V g ¥l W ¢ E, B& ST
g T W gl C & ysifddt &1 gu@ vh
gax &1 faadia f&er 7 €1 B, F &1 qgidr 48t
¢ 3R F, C% av gay ¥ W 3l
A. FUA 1 F f&ar I=r 3T 3Hhel U I
3cR A & oy yaieq § Sefer FuT 11 &
fear I/ 32T 9T FT IcR SoF & o
e 8 gl
B. &yl II # fear arar 3er 3tehel YT T
3R & & ford qaieq § Sefeh T I H
T araT 3T W T 3R &oF & oy
gAad A&7 g
C. IT ar 3hel YA [ T ST AT 3hel HUT
I1 3 fear aram 3er w9 &7 3cR of & ford
gTeT
D. YT I 3R &y I gt & fear I=m 3er
Ty # 3ccR e & o wafea &8 &1
E. ®YeT 1 3R e 11 gt & fear amm ser
AT H 3ccR S & o g gl
e U a7v ueaA & Ue weed 3R @ HUSA
| 3R || gERRd &1 3w Ig AuTRa aer
g Fua F & I TFERT T H 3R
T & o uaeq § 3ryar Ad 3 W
MR fahedl & AR 9 Tk T TFA
Gl

og giFd A, B, C, D, E3RF, & & &
mwmwﬁfﬁﬁrmﬁﬁag@
%mmw%%wwﬁg’rm
3R C & dra #F fraa safFd dar go 87
I.A,asraﬂ:raﬂﬂ%ﬁﬁﬁgm%mﬂﬁﬁ
7 30%R 81 ¥1 A 3 D & o #F ar cafFaat
wmgm%lDaﬂTEimﬁwwﬁr
a:ramgaﬂ’s‘l

thi ¢

33.

$
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II. E3R C& &g & Fad s gfaad der
83 R1 C & ugel Yer gU Al i wear
3R F & s1g a7 gU cafeaal i FEam s
gl

A. FUT | H & IS FATABRY bt T &7
3cR S & oy yafeq g, safer a1 || &
& IS SATASRRT 37ohel U FI 3caR Sof &
o gaTeT AET &1

B. ®YUT || H & IS SATTHRT 3Tkl T T
3cR A & oy uaieq g, Sefes e | &
&Y IS SATAPRT 3Tohel U FT 3caR Sod &
o gaTeT AT &1

C. 3Thel HYA | IT S FUT || H & TS
STTRRT T2 & 3cak Gof o Told gaTed gl
D. gll &YeAr, YA | IR FYA || F &
IS FATTHRT Th AT T2 HT 3cck el
o gaiea 7 B

E. gt ®yal, HUT | 3R FyA (| F § 718
SATARRT Th TATT YT FT 3ccR ol & fordr
TSR g

A& tF uea 3R o Fuw | AR | @
o a1 & U Ig UG e § &
FYA H & TS TR U F 3ccak ¢od &
o gaTca § 37Yar =1gr g

fgder v Wy dFT A IR AT IR qW
W IS g T dfFa & 3ifaw Rt «w
ot §?

|. 9af, &reh & arfee diefr 38T §1 3197, e
& T IERT o1 g1 AT A AT v 30y ufea
& 3fad B W daT g

1. qdt 3R 331 & g & Saer vk st
dor g1 qdf, Afae & aifger el 38 1 =g,
il & O aifeet $6r &1 F o T T &
gdf 9fFa & 3ifad e WSS &

TEE e
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34.

A. IfE HUT 1 H & 315 TTRRT 3ehel T2
FI 3R ol & o waTeq § o9 & Faa
Il & & IS SATTPRT bt 92T FT ek Sob
F O gueq 7 &

B. I &Y || H & I8 IATThRT 3hel
9T FT 3ok & & ford waeq & 9 &
FUT | FH & TS FAARRY Fel T FH
3ca¥ 3o & fory qaeq oY §

C. IfE et HUF | AT el YT || F &
I SATABRT TRT BT 3k ol o Tl FATST
¢

D. If gt soalt | 3R || F & TS
SATARRY Tk TATT YT FI 3ccR ol & fordr
3ETH &

E. 3fg @ szt | 3R || F § 78
ST Teh T YT & 3ccR ad & o
3aLTS AGT &

A&er: AT QU 90 g U H Td U
3R o YT F&ar I 3R 11 feu arv g1 3maent
I AU o § & FuaT #F & 18 FeAery
YT FT 3R &t & fow gafea & am =gh|
gt HYAT B 9¢ AR Iear &

9/ =gfed A, B, C, D 3R E & a9l 37eldT-
37T g1 T 318 gt fhaer &2

I. B & goiad C 3R D & 31f8% afed E @
FH § S gEd H FE B

II. E® a9 B3R C ¥ 37W0s dAffa A T
A &

A. FUT I H & TS FATTHRT el TT &
3cR & & fow wareq §, Sefe daa I1H
&Y IS FATAPRYT h W HT 3ca] ¥ &
foT ged g &1

B. U LI & 1S AT 3ihel YT HT
3cR & & fow uareq §, sefeh ;a1 &
&Y IS FATTHRT 3hel TR F ek &of &
foT gafca a8t §)

thi ¢

35.

4

gradeup
CCATAFUTLH TN AT I A & 715
SITThRY 3ol U2 & 3ol &of & fow
gaTed gl
D. & I 3R &yeT II At 7 & a1
STThRRY YT H YT FT ek & & [T
gAied 8 gl
E. el I 3 &ye 11 gt & & a1
SATARRT TTT F T2 & 3cck &of & folv
3T g
A&er: U a7v ueaA & Ue wee 3R @ wye
I 3R 11 feu st §1 3l I AfRad &
¢ fr fFg sge & fear o= 37 e & &
T e g1 59 W 3maRa Adedt & @
39 ek FT T |
foig T & @eey & g M 7 TuIeT & §?
L. fSg N, fSg M & 6 ey afRasr # &1 fog
0, faig P & 3#teY gR=a # g1 fNg N, fog
OF 5 3cX # gl Mg T, WgsSs qa
# 117X &1 gl W &
II. fig P, fdg Q % 4 #HleX 3cX # g1 Tog
S, Ag R & 3k # 27X #1 gl W §1
foig R, foig Q & 8 ey uiRwH # g
A. FUT I H &A1 3T 32T el 9T &
3cR & & o yaTeq ¢ oefh Faa 11 &
feaT 1T 3T YT FT 3caR &F & o
gAied e gl
B. ®yeT II # feam I 3er 3tehel U &1
3cR A & oy yaieq § Seafes T I &
AT 1T 32T YT T 3cak aF & o
ERIEC I
C. T dr 37hel HYUA [ T 3T AT 37hel HUT
IIF fer a1am 3eT Uee &7 3ca} &of & fory

giea gl
D. &4 I 3K &7 11 Q= & & arm er
T H 3R e & oy qafea &7 &1

E. ¥ I 3R &ueT II et & fear aram er
T # e’ & & O 3maas gl

TEE e
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36.

37.

38.

7000 TUAT HI IJGAT ¥ F ar HEH F
fenfara frar sm=r 3R Jiser A, S 9fa av
TS glovarell 10% aTf¥eh wshaefer sarel
Fr eT ¥ SIST YSeT Fl g JUT Il B,
S 15% arf¥es ATYROT SATsT & &3 8 AT
el il & H HAT: 2 a¥ 3R 3 av &F
foT fager foear = 3fe Aeer A & e
T AT F 9o &A1 Aeler B # fpw amw
e & g sareT & 84% g, af AT A
# feafa gaafr ara #i

A. 4200 39 B. 2700 T
C. 3000 &9 D. 4000 &9
E. 4500 39

Tt do A ot et f FEar X 3R g der
Fraear 5 gl Yo 4 TH & ¢ TH &
JiAEUTsT & 2 9 Aefeos 7 @ el
ST &, a4t At & orer @1 S wifdieRar 3/7
&1 X &7 AT F2T gHEm?

A. 10 B. 15
C. 13 D. 20
E. 22

A el el ST @ 20 et & T Fepar
gl B, A® 25% 3fsh &g g1 A 3R
B oy & #r yRH X § IR 4 o w
A &1 IS C 3rhel AV H T 22 &t &
QT AT &, a C T QU A 37chel FHTCA

F F fraa o o9?
A. 30 B. 35
C. 40 D. 42
E. 45

fadr (39-43): A@EN & CAYSH
e Y 3R Aafaf@a geat & 39w &
T Hefel o AT gA HI AR IFAR &
foT 450 a3 faaRa feul R FfEr
TR FI TEAT WER a3WT Fr & &
130 3% ot ISR aE@R & 39T
e arel gest 3R Afge3it i FEdr & &

thi ¢

39.

40.

41.

42.
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3T 13:7 &1 g3 Hiear & fIw gest garr
39T U 9T 3R T FEAT USHIR &
fore gesl garT 3ueT fhT AU arEERT @
HEET AT T A 15 i | qelr =Ry
FT 3T TRAT I=AT AT
IFAR AT3TRT BT YA FeT dTell Afgeait
Fr TEAT §IX HCIT AFTWI AT 3YIRT et
grel W9l T FEAT STITHT & ofardeT fohctelr

gfaerd g2

A. 24% B. 15%
C. 19% D. 22%
E.17%

fader: TPl &1 eegdE reET HY 3R
At fd 9=t & 3@ <

Teh Hold o HFA gA Hicar AR IR &
faw 450 aE=R faaRa feul gaX &fder
TR FI &I SRR d3WT H &I |
130 3fOe ot QSRR aE3TR & 3T
A arel g1 3R A3t 1 dear & o
3eqareT 13:7 1 83X HieH & ToIw gosit eanr
39T fhU 9T 3Rl & T&AT 98FIR &
fT gest carr 3uder f&hv U =Rt i
TET T Joler H 15 A Ar| Fol sy
FT 39T ThaT =T AT

Ifg ISR a3 W@ arel 30 el o
AAFAR A o R TR FRer IR @
gt 50% ae A HAAFIR @fdw o, ar
fohdel S9N o AR Afaw &1 3997 fohar?

A. 160 B. 150
C. 170 D. 175
E. 3 @ g A&t

fhaal qest & 9SlRR a3 @1 3UANT
Rar?

A. 94 B. 100
C. 86 D. 104
E. 98

fder: STeEr &1 eaegdE reEg HY 3R
frAfaf@a geat & 3 &

TEE e
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43.

44,

T Hefel o AFA gA HSI AR IFAR &
foT 450 a3 faaRa fhwl g &
3T HT FE&AT EFIR ABFWT I T&IT &
130 3f8e ot 9SRR aE3ER & 39T
YA drel GEST 3R AfRemsit 1 F&ar & da
3T 13:7 B 83X Hiear & foIw gest garr
39T T T a3eRT T TEAT IEIFR &
fore gl garT U fhe AT ARt @
HEAT AT JoIT A 15 i | F@elr =Ry
FT 39T TRIT =T AT

fohcdal gesl & TN T aF3er &1 3UANT
fRar?

A. 105 B. 110
C. 119 D. 290
E. 120

qeel 3R AR garT 3w v aw
ISFAR A3TRT AT F&AT & AT AT FT 72

A. 54 B. 56
C. 58 D. 48
E. 62

faden & a5 arforer v Fust garT IR aut
# 3cuifed wAAsl Hr H@Ear AR e
oieTor H fawer wHer @1 afaerd & gerdr
gl & a8 aife & SaeEe EEdT &
AR AT GT 1T weAdAt F 3l &

- Seutfe FAt #r | IorEear e ¥

wea (amEt #) | fwer wAE F 1 %

2014 3.2 2.5%

2015 4.0 2.25%

2016 2.8 1.25%

2017 3.6 1.25%

Note: J[uracdr Gd&ior & father wefsil w7eT
ST 1T

a¥y 2016 3R 2017 & Fordear gdieor #
el TSI HT T T A

A. 3.16 dl@ B. 3.46 o@
C. 3.36 olT@ D. 2.96 ol@
E. 308 & HIg oaf

thi ¢

45.

46.

$

gradeup

faden: & 718 afereT v ol garT aw axf
A Fcurfed wefsll 1 FEar 3R U
qfieTor #F Qe wElE FT gfaerd @ g
gl & IS AT & CATIYdh HETAT
IR AT T ot et & 3R &

- Seqifea wHtel #T | Iordear T 7
dew (amEl #) | fawa s &7 %
2014 3.2 2.5%
2015 4.0 2.25%
2016 2.8 1.25%
2017 3.6 1.25%
Note: F[uracdr wdieior # favher shefisil =Tet
ST I

ay 2014 & Jofel H a¥ 2017 & IUTdcdr
e A fAve wle HroFEar fhde
gfaerd T FH §S &7

A. 40.75 % B. 43.75%
C. 42.75% D. 45.75%
E. 44.75%

e & a5 arforer v Fusll garT IR aut
# 3curfed HAs H dEar 3R qurEer
afieTor 7 fawer FaS @1 ufaerd @ geridr
gl & a8 aife & SeEe e &Y
3R A BT 1T weat & 3R &

- Feafea Falrat & | aquraear e #
e (At #) | e w1 # %

2014 3.2 2.5%

2015 4.0 2.25%
2016 2.8 1.25%
2017 3.6 1.25%

Note: J[oracar W&o & At wefsil w7eT
ST 37T

2015 # 3cUled FoI Felell A @, Whe
FAE A TEr, T FAET Hr T F vh
fags &7 g, a av 2015 & fhda @i
FHS FT 3cargel fHar arar ar?

A. 2.5 dr@ B. 2.3 9@
C. 224919 D. 2.4 oM@
E. 38 ¥ HIg o1gl
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47.

48.

49,

50.

a¥ 2015 # IUMEcdl GEOT H FHA Tl
FHGT AT GEIT FT 10% FHS A WF
ar$| a¥ 2015 & Fol el el JoTdear
TETUT H T Bl & ST ool [Sehl?

A. 37400 B. 39500
C. 39100 D. 38600
E. 37500

a¥ 2014 #, Furacdr GR&ToT H Fhor T
Seftsl 500 ¥ i AT & AFT Hoa W
I 7€ ot @ 39 a¥ IS e (WIS
T H) A A

A. 0.156 U3 T

B. 15.6 s 39

C. 1.56 aI3 39

D. 1.52 &g 1

E. 1.54 &3 39

fager: Arafaf@a Yar @ 9t ABC garr
5 3TereT-37e9T fgaAt X AvgH 3R 93 3HR
& 9 AV aled SieFdt S ol fashr getar g
I &I EITAYdeh I e faT T FRal

& 3 ST

W R e Rt @ e gor oo @3
TR o dieFy dierg o IT?

A. 245 B. 240
C. 244 D. 226
E. 210

fager: Arafaf@a Yar @ susir ABC garr
5 37cleT-37crT Gl 9 ALIH AR 93 3R
& S AU dred arear B Hor fashr gefar B
UG T CAFAYES eI e T 7T FeaAt
& 3W AT

thi ¢

51.

52.

.......

feeT 1 & foT 91T gt 3ThRY & o 91T aierd
Sl 1 ol FEAT o 4 H QU a0 A
ITPRY & S AV dlry sl B Pl A
T ST Torcdedr ufaerd g7

A. 84% B. 84.5%
C. 86% D. 84.3%
E. 84.9%

eT 1, G 4 3R feaf 5 W s S arel
HqETH ISR F digyg el I JEA™AT &1

g Far 82

A. 44 B. 45
C. 46 D. 47
E. 48

fader: eafaf@a Yar 7 Sl ABC g@rr
5 37creT-37e9T fGal W ALIH AR I3 3R
& S AT drery arerar ol fIshr gefar B
Ih & CATAYIH AT Fh GV AT FeaAl

& I IS

60

v'

e 33K R 5 W & Y I A arer
3 MR & arFg sSiFdr o g 3R e
1 3R e 2 W v WY 9T 1 aTer AL
PR F dFd SiFdr I FEAT & & FH
AT AT F
A.3:4

C.5:4

E. 318 & #Ig 61

B.4:3
D.4:5
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53.

54.

55.

56.

57.

feeT 5 W 99 3T HEIH HThR & gy Siaal
$r Tear T 3 W 9 9T §3 IR F e
gt fr TEar ¥ fFraa gfaua e 8§72

A. 25% B. 33.33%
C. 20% D. 16%
E. 38 & HIg =gl

Ush ol & 3—¥daT 5000 §.#7.3 3k 3mR
$r Bear 5 A g 0T H Fa8 T g9
& T & R g1 F7 @1 aR@Ea (F.A.

H) AT |

A. 40/42 B. 4042
C. 40 D. 60
E. 10

e ArAfaf@a weed & & gAeor W X
IR Y H Ru arv §1 3muenr 7 FqHON T
gol T & 3R X 3R Y & i geu [uiRa

T gl

A)2x2+5x+3=0
B)2y?-7y +6 =0

A.x>y B.x<y
C.x=<y D.x=>y
E. X = y or no relation can be
established.

e Aeafaf@a e & & gFieor W X
IR Y & U st §1 39enr 37 Fefiepion i
& T § 3R X 3R Y & 9 g9y [uiRa
YT Bl

A)3x2-7x+4=0
B)2y?-3y+1=0

A.xXx>y B.x<y
C.x=<y D.x=>y
E. X = y or no relation can be
established.

foéer: FFafaf@d 92T & &y gHeor W X
IR Y F e arw &1 39 3T GHON Fr
g1 T & 3R X 3R Y & & gey [

G &

A) x? + 12x + 3
B)y2+ 17y + 7
A. X

N U1
nn

58.

59.

60.

61.

62.

63.

¥
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E. x = y or no relation can be

established.

A) x> -10x+25=0

B) y? = 25

A. x>y B.x<y
C.x=<y D.x2>y
E. X = y or no relation can be
established.

A) x> -36x +324 =0
B)y?2-42y + 441 =0

A. x>y B.x<y
C.x=<y D.x2>y
E. X = y or no relation can be
established

ar &of uId: 4:00 St 3R 4:30 Ft Sierehrdm
T sAw: 50 F.aA gfa g¢ Tar 75 kA gfa
ge #r afad & ool & v fAwedr g ar
ool & fFadar fFrelieliex &1 Im=r & a1g a1t

¢l T 1Y gief?

A. 85 f&h.#T B. 75 f.#Y
C. 45 f.ar D. 55 f&.#r
E. g8 & &I a1e

Sl &7 50,000 & H T #MT @IET AT
2000 T FFAT W AR 500 9 qRkaget
W @Y fFr 3R ag 37 20% & & T@rY
I el 3Ha #fe A R AT (T H)
W Sd?

A. 62000
C. 61000

E. 301 & FIs et

$o IfFadi & Uh GHg A osfEd Iy
16.75 a¥ g1 13.25 ay¥ & 3ad 3mg are
20 AU FfFqal & wHg A WfAa gt &
Tag @1 3aa g 15 a¥ g Sl g1 9Re

B. 60000
D. 63000

# weg A cafaadt i @' ad wX
A. 20 B. 21

C.23 D. 24

E. 26

Ife a¥ 2001 & A 3R B T 3 #T 3T
2 : 38 3R a¥ 2001 @ur 2002 H A &
3T HT A 4 : 58 a¥ 2002 H A #

TEE e
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64.

65.

66.

67.

68.

g AT W, I AT a¥ FH IFHT F9d
4000 &9 &1 ¥g fear = & &% a¥ 2001
# A 3R B &Y 3T FT IET 25000 T

A. 5000 39 B. 10500 T9&
C. 9500 &5 D. 7500 39
E. 8500 T4

TH IR QT & A A 2:6 & U B
are g oG 3T MY H AT 6:8 @
SEaT| 10 a¥ e 3o 3Had 3y (@ #)

fraetr gt

A. 12 B. 13
C.14 D. 15
E. 16

T Heell H 2 : 3 & Hoqud # e 3R
arelr T AT & 3R gEY # 3:2 & 3gurd
# e 3R gl & e g1 g @ fader
AT ggol dheelk & 10 oiex & ary fAfda
I ST TIfeT difeh IRomeY 8T 1 31egara
4 5@l Se?

A. 2.86 oireX B. 3.45 X

C.4.31 i D. 5.67 olreX

E. 8.94 oiieX

A Rafaf@a g=ar si@er & i ar
AT ITaId &7

0.5,2,1,4,32,512

A. 0.5 B.2

C. 4 D. 32

E. 512

A Raff@a g'ar s@ear & i O
AT T 87

4,5.1, 7.3, 10.6, 15, 20, 27.1

A.7.3 B. 20

C.27.1 D. 4

E. 15

A Rafaf@a g=ar si@er & i ar
AT ITad &7

2, 3, 8, 31, 154, 924, 6460

A. 3 B. 31

C. 154 D. 924

E. 6460

thi ¢

69.

70.

71.

$
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fader: rafafea dear s@er 7 &l @

AT AT 87

2,6,10, 19, 36, 69, 134

A. 36 B. 19

C. 10 D. 6

E.2

e AeAfaf@a @& s@er # &l a1
AT I 72
251,252,254,227,243,118,154

A. 251 B. 252

C. 254 D. 227

E. 118

Direction: Read the given passage

carefully and answer the questions that
follow. Certain words are printed in bold
to help you locate them while answering
some of these.

Advice about the art of interview
preparation and how to craft the perfect
CV isn't enough to put every student on
a path to a career they want. About one
in three graduates end up being
“mismatched” to the jobs they find after
leaving university, research by
Universities UK suggests.

These mismatched graduates face
poorer prospects and lower earnings
than their peers who embark on careers
that are a better fit for the knowledge
and skills they have acquired through
three or four years of study. It suggests
that traditional careers advice isn't
working.

The problem isn’t necessarily that too
many students are taking the wrong
course. There is little evidence that
graduates are studying the “wrong”
subjects, according to the UUK research,
since most are on courses that offer
subject knowledge and employability
skills that are very much in demand.
Instead, students need better careers
advice that will help them define their
skills and attributes - and understand
how these match different career
options. Students also need help finding
out which skills they'll need to break into
certain industries - particularly in
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72.

sectors that aren’t good at diversifying
their recruitment, or when they have no
family or social network of contacts to
call on for help and advice.

Politicians complain of a skills gap, but
graduates face an “experience gap” -
with many employers preferring to
recruit young people who have spent a
couple of years in the workplace rather
than raw recruitments from university.
To help graduates find the right jobs for
them, lots of universities are
experimenting with new ways to make
their careers advice more accessible and
meaningful.

At the University of Kent, students can
use an online Careers Explorer service to
match their skills to career options, and
a work-study scheme that provides
bursaries for work experience. Students
at the University of Dundee can take
employability modules in parallel with
their academic work, including online
and personal career planning sessions.
Source:
https://www.theguardian.com/higher-
education-network/2018/jan/25/too-
many-graduates-are-mismatched-to-
their-jobs-whats-going-wrong

Which of the following statements is/ are
true with respect to the passage?

I. The graduates who do not end up
getting a job best suited to their
knowledge and skill end up earning less
than their counterparts who pursue
their skills.

I1. A lot of universities have come
forward to address the problem of
mismatched jobs.

III. The lack of good pieces of career
advice causes graduates to enter into
professions that are not in sync with
their skill and profession.

A.Only I B. Only II

C. Both I and II D. Both II and III

E. All I, IT and III

Direction: Read the given passage
carefully and answer the questions that
follow. Certain words are printed in bold

thi ¢
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to help you locate them while answering
some of these.

Advice about the art of interview
preparation and how to craft the perfect
CV isn't enough to put every student on
a path to a career they want. About one
in three graduates end up being
“mismatched” to the jobs they find after

leaving university, research by
Universities UK suggests.
These mismatched graduates face

poorer prospects and lower earnings
than their peers who embark on careers
that are a better fit for the knowledge
and skills they have acquired through
three or four years of study. It suggests
that traditional careers advice isn't
working.

The problem isn’t necessarily that too
many students are taking the wrong
course. There is little evidence that
graduates are studying the "“wrong”
subjects, according to the UUK research,
since most are on courses that offer
subject knowledge and employability
skills that are very much in demand.
Instead, students need better careers
advice that will help them define their
skills and attributes - and understand
how these match different career
options. Students also need help finding
out which skills they'll need to break into
certain industries - particularly in
sectors that aren’t good at diversifying
their recruitment, or when they have no
family or social network of contacts to
call on for help and advice.

Politicians complain of a skills gap, but
graduates face an “experience gap” -
with many employers preferring to
recruit young people who have spent a
couple of years in the workplace rather
than raw recruitments from university.
To help graduates find the right jobs for
them, lots of wuniversities are
experimenting with new ways to make
their careers advice more accessible and
meaningful.
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73.

At the University of Kent, students can
use an online Careers Explorer service to
match their skills to career options, and
a work-study scheme that provides
bursaries for work experience. Students
at the University of Dundee can take
employability modules in parallel with
their academic work, including online
and personal career planning sessions.
Source:
https://www.theguardian.com/higher-
education-network/2018/jan/25/too-
many-graduates-are-mismatched-to-
their-jobs-whats-going-wrong

Which of the following myths does the
author break in the passage?

A. The skills acquired by graduates is
not equivalent to the degree they have
achieved.

B. Instead of a wrong choice of an
academic course, the problem lies in
the lack of provision of a good career
advice, which is well- matched with the
skill and knowledge of a graduate.

C. The fact that the courses available at
universities are not skill oriented,
pushes the graduates to be caught up
in wrong jobs.

D. The career advices being provided at
the universities do not effectively
analyse the potential of a graduate and
provide them with good career option.
E. None of these.

With which of the following statements
is the author most likely to agree?

A. Most of the students often enrol in
courses that do not offer subject
knowledge and employability skills that
are in demand.

B. The initiatives being taken by the
Universities to provide accessible career
options may not be successful.

C. The traditional careers advice would
work if they are directed towards skill
development rather than imparting
theoretical knowledge.

D. The employers have a tendency to
recruit recruits from Universities as
they can be hired at significantly low
remunerations.

thi ¢

74.

75.
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E. Students require help in finding the
skills required to get into employment
sectors at a time when they do not
have access to good careers advice
through their family and peers.

With reference to the context of the
passage, what can be inferred from the
line, “Politicians complain of a skills gap,
but graduates face an “experience
gap””?

A. The politicians have not been able to
properly analyse the root cause of the
problem that lands up a student in an
undesirable job.

B. The politicians have rightfully
identified the major cause of the
unemployment problem.

C. The problem of “experience gap” is
identified and well- addressed by the
politicians.

D. The priority of the politicians is
disoriented as they emphasize more on
experience than on skills.

E. None of these.

Direction: Read the given passage
carefully and answer the questions that
follow. Certain words are printed in bold
to help you locate them while answering
some of these.

Advice about the art of interview
preparation and how to craft the perfect
CV isn't enough to put every student on
a path to a career they want. About one
in three graduates end up being
“mismatched” to the jobs they find after

leaving university, research by
Universities UK suggests.
These mismatched graduates face

poorer prospects and lower earnings
than their peers who embark on careers
that are a better fit for the knowledge
and skills they have acquired through
three or four years of study. It suggests
that traditional careers advice isn't
working.

The problem isn’t necessarily that too
many students are taking the wrong
course. There is little evidence that
graduates are studying the "“wrong”
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75.

subjects, according to the UUK research,
since most are on courses that offer
subject knowledge and employability
skills that are very much in demand.
Instead, students need better careers
advice that will help them define their
skills and attributes - and understand
how these match different career
options. Students also need help finding
out which skills they'll need to break into
certain industries - particularly in
sectors that aren’t good at diversifying
their recruitment, or when they have no
family or social network of contacts to
cal on for help and advice.

Politicians complain of a skills gap, but
graduates face an “experience gap” -
with many employers preferring to
recruit young people who have spent a
couple of years in the workplace rather
than raw recruitments from university.
To help graduates find the right jobs for
them, lots of universities are
experimenting with new ways to make
their careers advice more accessible and
meaningful.

At the University of Kent, students can
use an online Careers Explorer service to
match their skills to career options, and
a work-study scheme that provides
bursaries for work experience. Students
at the University of Dundee can take
employability modules in parallel with
their academic work, including online
and personal career planning sessions.
Source:
https://www.theguardian.com/higher-
education-network/2018/jan/25/too-
many-graduates-are-mismatched-to-
their-jobs-whats-going-wrong

Which of the following words is MOST
SIMILAR in meaning to the "evidence" as
given in the passage?

A. Result B. Proof

C. Feature D. Rustic

E. Misnomer

thi ¢
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Which of the following words is MOST
OPPOSITE in meaning to "embark" as
given in the passage?

A. Undertake B. Process
C. Reject D. Apprehend
E. Deceive

Direction: In the following question, a
word is given that is followed by three
statements. All these three statements
carry the given word. Identify the
sentence(s) in which the word fits to
make them grammatically correct and
meaningful.

Hamper

I. The Centre’s move to direct oil
marketing companies to lower auto fuel
price hampers the confidence of oil
companies in investments made in
India.

II. Metro Railway services were
hampered for 15 minutes on Monday
afternoon.

III. High street retailers, Marks &
Spencer and John Lewis & Partners,
have also released their own hampers
which are far more affordable than the
luxury offerings.
A. Only I

C. Only III

E. All I, II and III
Direction: In the following question, a
word is given that is followed by three
statements. All these three statements
carry the given word. Identify the
sentence(s) in which the word fits to
make them grammatically correct and
meaningful.

Tact

I. The kind judge was tactful when he
informed the dancer of her elimination
from the show.

II. They came up with a tactfully to
reach their destination in the fastest
time possible.

ITI. He had an engaging personality and
used tact in dealing with his patients.
A.Only I B. Only III

C. Both I and II D. Both I and III

E. All I, II and III

B. Both I and II
D. Both II and III
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79.

80.

81.

Direction: In the following question, a
word is given that is followed by three
statements. All these three statements
carry the given word. Identify the
sentence(s) in which the word fits to
make them grammatically correct and
meaningful.

Adage

I. Despite what that old adage says, 1
like to have my cake, eat it, and then
have another piece.

II. Among other things, the writer is
famous for adaging his philosophical
ideals.

III. Tired of all the same old sayings,

he adaged a new thought.

A. Only I B. Only II

C. Only III D. Both I and II

E. Both II and III

Direction: In the following question, a
word is given that is followed by three
statements. All these three statements
carry the given word. Identify the
sentence(s) in which the word fits to
make them grammatically correct and
meaningful.

Malaise

I. After his dog died, he remained
malaised for several months.

IT. Many citizens who live near the
contaminated river are complaining of a
malaise that keeps them bedridden.
ITI. Weeks before his heart attack, Mr
Robbin kept mentioning how he felt
malaiseful and not like his normal self.
A.Only 1 B. Only II
C.BothIand III D. Both II and III

E. All I, II and III

Direction: In the following questions,
two columns I and II, each containing
three sentences are given. Column I
consists of the first part of three
sentences and Column II consists of the
remaining part of those three sentences.
Match column I with column II, so that
the sentences formed are meaningful
and grammatically correct.
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L.

A) We believe in a circular rather

B) The Rig Veda was written more than
3800 years ago,

C) The word 'Juggernaut' was originally
used to denote the Rath Yatra temple
car,

II.

D) Veda is superior to Albert Einstein's
Theory of Relativity equation.

E) than a linear concept of time.

F) which was so massive it would crush
devotees under the wheels.

A. B-E and C-F

B. A-E, B-F and C-D

C. A-Fand C-D

D. B-F

E. A-E and C-F

Direction: In the following questions,
two columns I and II, each containing
three sentences are given. Column I
consists of the first part of three
sentences and Column II consists of the
remaining part of those three sentences.
Match column I with column II, so that
the sentences formed are meaningful
and grammatically correct.

L.

A) A garbage patch in the Pacific Ocean
B) There's a mass of floating rubbish in
the Pacific Ocean weighing around

C) About 80 percent of the plastic trash
that makes up the Great Pacific
Garbage Patch

II.

D) is believed to have originated from
land-based activities.

E) to help farmers who depend on
weather.

F) has stretched to almost twice the
size of France.

A. B-E and C-F

B. A-E, B-F and C-D

C. A-Fand C-D

D. B-F

E. A-E and C-F

Direction: In the following questions,
two columns I and II, each containing
three sentences are given. Column I
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84.

consists of the first part of three
sentences and Column II consists of the
remaining part of those three sentences.
Match column I with column II, so that
the sentences formed are meaningful
and grammatically correct.

L.

A) Overfishing can wreak havoc to
marine ecology and completely

B) Unsustainable fishing practices over
the last few decades have pushed

C) Oil destroys the insulating and
water-repellent properties of

II.

D) eventually accumulating in remote
areas of the world’s oceans.

E) our oceans to a point where they
may now be on the verge of collapse.

F) the marine animals, exposing them
to harsh environment.

A. B-E and C-F

B. A-E, B-F and C-D

C. A-Fand C-D

D. B-F

E. A-E and C-F

Direction: In the following questions,
two columns I and II, each containing
three sentences are given. Column I
consists of the first part of three
sentences and Column II consists of the
remaining part of those three sentences.
Match column I with column II, so that
the sentences formed are meaningful
and grammatically correct.

L.

A) At Harvard, Sheryl founded a group
meant to encourage women

B) Sheryl Sandberg is responsible for
spearheading several successful
Facebook projects

C) In the hall of fame of women
breaking the glass ceiling and painting
their name on it,

II.

D) and ended up becoming the first
Indian woman to obtain a degree in
Western medicine in the late 1800s.

E) to know so much about them as
possible.
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F) that have made the social
networking site the market giant it is
today.

A. B-E and C-F

B. A-E, B-F and C-D

C. A-F and C-D

D. B-F

E. A-E and C-F

Direction: In the following questions,
two columns I and II, each containing
three sentences are given. Column I
consists of the first part of three
sentences and Column II consists of the
remaining part of those three sentences.
Match column I with column II, so that
the sentences formed are meaningful
and grammatically correct.

I

A) Elephants prefer one tusk over the
other,

B) Elephants use their feet to listen,
they can pick up

C) Elephants herds are matriarchal,
with older females taking

II.

D) care of the calves and protecting
them while travelling from place to
place.

E) just as humans are mostly either left
or right-handed.

F) sub-sonic rumblings made by other
elephants, through vibrations in the
ground.

A. B-E and C-F

B. A-E, B-F and C-D

C. A-Fand C-D

D. B-F

E. A-E and C-F

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence, three alternatives to the
bold part are given which may help
improve the sentence. Choose the
option that reflects the correct use of the
phrase in the context of the sentence. In
case the given sentence is correct, your
answer is (E), i.e., "No correction
required".
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87.

88.

No other region in the world illustrates
the chronic nature of displacing
caused by extreme whether events
and climate change more than Asia and
the Pacific.

i. Chronic nature of displacement caused
by extreme weather.

ii. Chronic nature of displacement
caused by extreme whether.

iii. Chronic nature of displace caused by
extreme weather.

A. Only i B. Only ii

C. Only iii D. Both ii and iii

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence, three alternatives to the
bold part are given which may help
improve the sentence. Choose the
option that reflects the correct use of the
phrase in the context of the sentence. In
case the given sentence is correct, your
answer is (E), i.e., "No correction
required".

The recent incidents of drug overdose-
related deaths has brought the
spotlight back in the drug menace in
the state and on the role of the Punjab
Police in curbing it.

i. Overdosing-related deaths have
brought the spotlight back over the drug
ii. Overdose-related deaths have
brought the spotlight back on the drug
iii. Overdose-related deaths having
brought the spotlight back on the drug
A. Only i B. Only ii

C. Only iii D. Both ii and iii

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence, three alternatives to the
bold part are given which may help
improve the sentence. Choose the
option that reflects the correct use of the
phrase in the context of the sentence. In
case the given sentence is correct, your
answer is (E), i.e., "No correction
required".
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More than anything, it is the human
cost of disasters that are the most
compelling argument for action.

i. the human cost of disasters that the
most compelling

ii. the human cost of disasters that is
the more compelling

iii. the human cost of disasters that is
the most compelling

A. Only i B. Only ii

C. Only iii D. Both ii and iii

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence, three alternatives to the
bold part are given which may help
improve the sentence. Choose the
option that reflects the correct use of the
phrase in the context of the sentence. In
case the given sentence is correct, your

answer is (E), i.e., "No correction
required".
Our Integrated Child Development

Services, meant to provide nutrition and
childcare up to six year of age, lack
greatly in qualitatively and
coverage.

i. years of age, lack greatly in quality
and coverage

ii. years of age, lack greatly in
qualitatively and coverage

iii. year of age, lack greatly in quality
and coverage

A. Only i B. Only ii

C. Only iii D. Both i and ii

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence, three alternatives to the
bold part are given which may help
improve the sentence. Choose the
option that reflects the correct use of the
phrase in the context of the sentence. In
case the given sentence is correct, your

answer is (E), i.e., "No correction
required".
The role of meritocracy in Chinese

history, focused on the so-called
examining system, have been a
matter of long scholarly scrutiny.
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91.

92.

93.

i. focused on the so-called examination
system, has

ii. focused on the so-said examination
system, has

iii. focuses on the so-called examing
system, have

A. Only i B. Only ii

C. Only iii D. Both ii and iii

E. No correction required

Direction: In the question, one
sentence is given, and four words have
been given in bold denoted by (A), (B),
(C) and (D). You have to decide which of
the following is inappropriate in the
context. If all the words are appropriate
in the context then mark ‘All correct’ as
your answer.

Indigestion (A) is often a sign of an
underline (B) problem, such as an
ulcer (C), rather than a condition (D)
on its own.

AL A B.B

C.C D.D

E. All are correct

Direction: In the question, one

sentence is given, and four words have
been given in bold denoted by (A), (B),
(C) and (D). You have to decide which of
the following is inappropriate in the
context. If all the words are appropriate
in the context then mark *All correct’ as
your answer.

A microwave heats food by causing (A)
the molecules to vertebrate (B) but it
certainly does not make food
radioactive, (C) as a misconception
(D) suggests.

A A

C.C

E. All are correct
Direction: In the sentence given below,
four words printed in bold are given.
These are numbered (1), (2), (3) and
(4). One of these words may either be
wrongly spelt or inappropriate in the
context of the sentence. Find out the
word that is inappropriate or wrongly
spelt, if any. The number of that word is
your answer. If all the words printed in

B.B
D.D
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bold are correctly spelt and appropriate
in the context of the sentence then mark
option E, i.e. 'All are correct', as your
answer.
She saw a fleet (A)/ of sheeps (B)/ in
the nearby (C)/ sea shore. (D)

.2

Al B

C.3 D. 4

E. All are correct

Direction: In the question, one

sentence is given, and four words have
been given in bold denoted by (A), (B),
(C) and (D). You have to decide which of
the following is inappropriate in the
context. If all the words are appropriate
in the context then mark ‘All correct’ as
your answer.

The prices of electronic goods have

declined (A)/ dew to the (B)/
reduction in (C)/ import duty rates.
(D)

A A B.B

C.C D.D

E. All are correct

Direction: The following question

carries a statement with four highlighted
words. The words are denoted by (A),
(B), (C) and (D). One of these words
may either be misspelt or incorrect in
the given context. Identify the incorrect
word. If all of the words are correct,
mark option E, ‘All correct’” as your
answer.

By created (A)/ the most precise (B)/
lunar gravity (C)/ map, scientists (D)
hope to find out what is beneath the
lunar surface.

A A B.B

C.C D.D

E. All are correct

Direction: In the given question, a

statement has been divided into five
segments, each of which is denoted by
(A), (B), (C), (D) and (E). Rearrange all
the segments to form a coherent
statement.

A) however, the UPSC decided to

B) cheating, the normal

C) consequence is his disqualification,
D) if an able-bodied student engages in
E) get the guidelines changed
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97.

98.

A. DBCEA B. DBCAE

C. CABDE D. ABCDE

E. ABECD

Direction: In the given question, a

statement has been divided into five
segments, each of which is denoted by
(A), (B), (©), (D) and (E). Rearrange all
the segments to form a coherent
statement.

A) Harry and Meghan's little one

B) will be seventh in line to the throne
C) when he/she arrives, and will be

D) about a year younger than

E) the reigning baby of the family

A. ACBDE B. ABCDE

C. ACEDB D. BDECA

E. CEBAD

Direction: In the given question, a

statement has been divided into five
segments, each of which is denoted by
(A), (B), (C), (D) and (E). Rearrange all
the segments to form a coherent
statement.

A) a brief career in music, where they
performed

B) in concerts and as standalone artists
to

C) the couple moved to Mumbai to

have

D) after the wedding,

E) mesmerised the entire country.

A. ABCDE B. CDABE

C. None of these D. BDCEA

E. AEBCD
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Direction: In the given question, a
statement has been divided into five
segments, each of which is denoted by
(A), (B), (C), (D) and (E). Rearrange all
the segments to form a coherent
statement.

A) the adjective “resilient” and the
nouns

B) of disasters and emergencies who
recover

C) quickly and from adversities

D) “resilience” and “resiliency” are
terms

E) that are normally applied to the
victims

A. ACEBD B. EBCDA
C. CDEAB D. ADEBC
E. ADBCE

Direction: In the given question, a
statement has been divided into five
segments, each of which is denoted by
(A), (B), (C), (D) and (E). Rearrange all
the segments to form a coherent
statement.

A) Frontwoman Lauren Mayberry

B) complimented the blue neon

C) lights illuminating the band

D) mirrored dress that

E) took the stage in a pastel-colored

A. ABCDE B. BDACE
C. CBDAE D. ECADB
E. AEDBC
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